=

45.

47.

(17)
The value of 1+%+%+110—-1010+ 1(1){1}(1)0 is |43.
(1) 3-3221
(2) 2-3321
(3) 2-245
(4) 2-432
44,

The mean of range, mode and median of the
data

4,8,2,2,72,2,0,3,4,4 1s
(1) 4
(2) 5
3 2
(4) 3

The sum of all interior angles of a regular
convex polygon is 1080°. The measure of each
of its interior angles is

(1) 108°

(2) 72°

(3) 1200

(4) 135° i s

In a quadrilateral ABCD, 2D = 60° and
#C = 100°. The bisectors of £ A and £ B
meet at the point P. The measure of £ APB is
(1) 80°

(2) 100°

(3) 60°

(4) T70° ‘
In A DEF and A PQR, if PQ = DE, EF = PR
and FD = QR, then

(1) ADEF=ARPQ
(2) ADEF=AQRP
(3) ADEF=APQR
(4) ADEF=AQPR

45.

47.

11 w1
e — et —— F—
10 100 1000 10000

111 111 A 2

1

(1) 3-3221
(2) 2-3321

(3) 2-245
(4) 2432

4,3,2,2,7,2,2,0,8,4,4
% UiER, g5 3R AT H AT @
1) 4
2 5
(3) 2
4) 3
T IT TH g b T 3d: H B ATHA
1080° & | 39 Ycish 37d: 0] I AT B
(1) 108°
2) 72°
(3) 120°
(4) 135°
s Tq8¥ ABCD #, £ D =60° 3 £ C =100°
21 £A 3R £B % gHgye fog P w fiema
21 ZAPB i W9 B
(1) 80°
(2 100°
3) 60°
(4) 70°
A DEF 3 A PQR ¥, af¢ PQ = DE, EF = PR
HTFD=QR %, a9
(1) ADEF =ARPQ
(2) ADEF=AQRP
(8) ADEF=APQR
(4) ADEF=AQPR

SPACE FOR ROUGH WORK / T% &Td o feTt WiiTg




49,

51.

\\7 h

The perimeter of a trapezium is 104 cm, the
lengths of its non-parallel sides are 18 cm and
22 c¢m, and its altitude is 16 cm. The area
(in em?) of the trapezium is

(1) 1024

(2) 512

(3) 320

(4) 640

If each edge of a solid cube is increased by
150%, the percentage increase in the surface
area is

(1) 525

(2) 625

(3) 150

(4) 225

The radii of the bases of two cylinders are in
the ratio of 2 : 3 and their heights are in the
ratio of 5 : 3. The ratio of their volumes is

1) 7:6

(2) 4:9

(3) 20:27

(4) 10:9

One of the factors of

42:2+y2 +14x - Ty —4xy + 12
is
(1)
(2)
(3)
(4)

2x+y+4
2Xx+y-4
2x-y+3
2x~-y-3

(18)

48.

49.

50.

51.

ﬁ?@ﬁﬂmw‘?ﬂmqlmﬁtﬁ%,?mﬁ T
STEATR YST13i 6 Teareat 18 a qo 29 3
8, a0 I SuE 16 W 2 | wwem =
&I (A2 F) 2

(1) 1024

@) 512

(3) 320

4) 640

af oreft 3 o A e o 1500 -1
1 S, @ 6 T gt § g v otz
2
(1)
(2)

525
625
(3) 150
(4) 225

aéﬁ%mﬁﬁﬁmﬁﬁzzsmm
2 3k ST S F 5 : 3 F UM B | I
I § ST #

(1) 7:6

(2) 4:9

(3) 20:27

4 10:9

4x2+y2+ 14x — 7y — 4xy + 12
& oEE! § & o 2
(1) 2x+y+4
(2 2x+y-4
(3)
(4)

2x—-y+3
2x-y-3

SPACE FOR ROUGH WORK / 7% &4 % foro s




52.

53.

55.

(19)

What should be subtracted from ;7§ to get

=2,
3
29
(1) a1
- 29
o1
1
21
-1
T
In standard form, 0-00001278 is expressed as
k x 10™, The value of (k +n) is
(1) 3-278
(2) -3-722
(3) 4-722
(4) —3-278
The least number which must be added to
893304 to obtain a perfect square is
(1) 1521
(2) 1612
(3) 945
(4) 1042

The value of 3—91125 — §512 is

(1) -53
(2) 73
(3) -37
(4) 42

The values of y for which the 4-digit number
51y3 is divisible by 9 is

(1) 20r3

(2) Oor 3

(3) 3or9

(4) Oor9

(2)

(3)

(4)

52.

53.

55.

56.

?ﬂ@wmm% 133 T '/ ?

29

21

~ 29

21

1

21

T

21

0-00001278 ! HHH ®9 H k x 10° g =T
P ST R | (k+n) FTAF B

(1) 3-278
(2 -3722

(3) 4722

(4) -3278

9% g9 o1 g 8 893304 F e W T
ot ot yrea &/, B R

(1) 1521

(2) 1612

(3) 945
(4) 1042

3— 91125 — Y512 1 9H &

(1) -53

(2 73

(3) -37

(4) 42

y % UH 998 4-3(hi dell §@ 51y3, 9 ¥
ﬁﬂmﬁ,ﬁm%:

(1) 2913

(2 033

(3 349

(4) 03T 9

(1)

(2)

(3)

(4)

SPACE FOR ROUGH WORK / T% &1 @ (610 9718




57.

58,

59.

(20)

In the product (x% - 2) (1 - 3x + 2x°) the sum of
coefficients of x and x is
(1 5

(2) 6
3) 2
4) 3

The scale of a map is 1: 3 x 10%. Two cities
are 9cm apart on the map. The actual
distance (in km) between the cities is

(1) 180
(2) 360
(3) 135
(4) 270

The value of a machine which was purchased
two years ago, depreciates at 12% per annum.
If its present value is ¥ 9,680, for how much

was it purchased ?
(1) ¥ 12,142-60
(2) ¥ 12,500

(3) ¥ 10,200

(4) ¥ 11,350-50

As per NCF 2005, the goal of mathematics
teaching in school curriculum is that children
learn “Important Mathematics”.
Important Mathematics implies

(1) understanding appropriate use of learnt

mathematical techniques.

(2) verifying geometrical theorems in Maths

Lab.

knowing mathematical procedures and
algorithms.

(3)

(4) solving mathematical games and puzzles.

57.

58.

59.

TOR%S (x2 — 2) (1 — 3x + 2x2) H x2 3 x
TUTIRT T ATHS B

1 5

(2) 6

(3 2

4 3

T AERE # 3T (scale) 1 : 3 x 10°
wAfeE & & R 9 T i gt w E | wn
ffer aredfas gft (et &) 2

(1) 180

(2) 360

(3) 135

(4) 270

A a6 vee Wl T R i % e
129 s o B FHaead BT & | AfE 3
JAUE qeF T 9,680 7, T 3T 9 I TR
a7 7

(1) T 12,142:60

(2) T 12,500

(8) T 10,200

(4) T 11,350-50

T gres=al i FRET (T.HLUF.) 2005
R, fauee see=at § nftm & e
a8 B wee fe w= “gwEwmel nfy
drg | yyramet nftra = aref B

(1) =g 73 nfordfi gt = gEE w3
fafeifa (sfaa) swm w5 |

wm # e # sfide giE
S HEAT |

T FEvgiaal K gfee i
(Yemifiem) &1 9. |

nfordta @@l R TRt g T |

(2)

(3)

(4)

SPACE FOR ROUGH WORK / T% T4 o feru sirg




61.

62.

63.

(21)

An object is vibrating at 5000 Hz. The time
period of the sound produced is

(1)
(2)
(3)
(4)

0-005 s
0-0002 s
058
002 s

Consider the following terms :
A. Lightning
Landslide

Thundering

O a w

Tsunami

Floods

Earthquakes can cause

(1) B,DandE

2) A BandC
(3) Bonly

(4) BandE

.‘r
Select the correct statement regarding rods
and cones in the human eye :

1)
(2)
(3)
(4)

Cones are sensitive to dim light.
Cones are sensitive to bright light.
Rods can sense colour.

Rods are sensitive to bright light.

Which one of the following planets has no
natural satellite of its own ?

(1) Uranus
(2
(3)

(4)

Venus
Jupiter

Mars

61.

62.

64.

E

HI§ S%G 5000 Hz W F99 &L T B | I
et &l IEd F 2

(1) 0-005s

(2) 0-0002 s

(3) 05s

(4) 002s
frefafad wgf w fammr $ifsm .
A, dfsa

B. YFE@eH

C. A

D. g

E. 9

& H Bl T B
(1) B,D IRE
(2) A,B3RC
(3) HIAB

(4) BIRE

a3 H AT 3 e & faww § wd
FYT FT FI4 HIC :

(1) 9% ¥ ¥ % forg gumel 2 2 |
@) % dig g & forw gurd 2 § |
(8) IEATHTE U (TTT) T SYfT F TR F |
(4) ieTeRTd e wepTer o TTU gumE et ¥ |

frafafan ugl 3 & frgen oo i gpfes
IWE T8 2

(1) =9

(2)

FEEt

e

(3)
(4)




ekl

65.

66.

67.

(22)

‘Good science education’ should fulfil some
basic validity. Which one of the following
validities is most appropriately fulfilled by the
concept of ‘shadow formation’ in class VI
syllabus at upper primary level ?

(1) Process

(2) Environmental

(3) Content

(4) Cognitive

A teacher frames a learning objective as —
«Making a device using simple electric circuit.”
This learning objective is matching with which
cognitive process ?

(1) Understanding
(2) Analysing

(3) Remembering
(4) Creating

Which one of the following statements about
scientific knowledge would you not agree
with ?

(1) Scientific knowledge is absolute, certain
and eternal.

(2) Scientific knowledge 1is
culturally embedded.

socially and

(8) Scientific knowledge is theory laden.

(4) Development of scientific knowledge
involves imagination and creativity.

Which one of the following is the most
appropriate technique of assessment of
attitude and values development among
students by science education ?

(1) Paper-pencil test
(2) Check-list
(3) Rating scale

(4) Observation

65.

66.

67.

68.

‘aﬁﬁﬁaﬁﬁm’ﬁﬁmm

Q1 AT A | 3= Truftes TR W & VI

qraTeEe § O wA % #Eed g
ﬁﬁaﬁaﬁt%umwna‘fﬁﬁaﬂﬁwﬁ

A B ?

(1 S
(2) diEsfig
(3) fawaasg
(4) EFHHS

s Teres TR sfera 3eLd I T THN
%_‘wmmmmmw
1 fwtor s i”asaxﬁma%w:ﬁ%ﬁq‘
mmwawm%?
(1) E9H




69.

72.

(23)

Consider the following edible plants :
A. Banana

B. Brinjal

C. Lady’s finger

D. Pumpkin

Select from these a pair of plants which has
two or more than two edible parts :

(1) Cand D
(2) AandD
(3) Aand B
(4) BandC

Which one of the following sets is the
combination of organs of human digestive
system that do nof carry out any digestive

function ?

(D
(2)
(3)
4)

Oesophagus, large intestine, rectum
Buccal cavity, large intestine, rectum
Buccal cavity, oesophagus, rectum

Buccal cavity, oesophagus, large intestine

Study the following statements about wvilli

(singular villus) :

A. They have very thin walls.

B. They are finger-like projections.

C. They have a network of thin and small
blood vessels close to the surface.

D. They have small pores through which
food can easily pass.

Identify the statements which give the
characteristics that enable the villi to absorb
the digested food.

(1) Cand D only
(2) A,BandC

(3) AandB only
(4) BandD only

Select from the following a set of ruminants :
(1) Buffalo, cow, deer

(2) Buffalo, cow, dog

(3)
(4)

Cow, deer, dog
Cat, buffalo, deer

69.

70.

1

72.

E
Frafafes @m-arg i w fa=r $Hifsw .
A, e
B. &
c. fid
D. g (i)
T § i 1 T g gh e e g @
3T @H-ITE 9T B § -
(1) C3MD
(2) A3INRD
(3) A3IMB
(4) B3MC

frafefad # @ q9e 9= 7 % 9T %S9

F I8 HH-A1 GY=T & S BIS UA FE 7@

AT ?

(1) 71, geei, TN

(2) H@ TfEHI, g8aH, TARE

(3) H@ Tfzew, ufeer1, vem™

(4) H@ Tz, afEe, gaEaE

M ¥ R § FefRe s w1 oA

Fifse .

! T g fufeat gt #

T el F A 390 TE weeAnd B € |

3T gEd TR arfgntet &1 e Her @

BN HaE & e BT |

D. ¥4 7éH fog B & foa i @ @
TSR Hehal 8 |

F FYE W UEEET S dRm W uiRE

05 Hl 9N F@ A0 g9 91 A0

YEH A 8 |

(1) %adC 3D

(2) A,B3MRC

(3) HaATAIMB

(4) $aa B3I D

frerfifigs srgait & & TR (wPri) wgal
F1 'Y= g

(1 ¥=, T3, TEm

(2) =, T, F

3) T, fam, $u

4) fugh, dg, f&w

Qwp




73.

74.

75.

76.

77.

(24)

Sometimes after doing physical work we get
muscle cramps. This results due to

(1) non-conversion of glucose to pyruvate.

(2) non-conversion of glucose to lactic acid.
(3) conversion of pyruvate to lactic acid.

(4) conversion of pyruvate to alcohol.

Which one of the following shows the correct
sequence of the path of urine in the human
excretory system ?

(1) Kidney — Urinary bladder — Ureter
— Urethra

(2) Kidney — Urinary bladder — Urethra
— Ureter

(3) Kidney — Urethra — Urinary bladder
— Ureter

(4) Kidney — Ureter — Urinary bladder
— Urethra

A bus covers the first 10 km of its journey at
an average speed of 40 km/h and the
remaining 45 km at an average speed of
60 km/h. The average speed of the bus for its
total journey is

(1) 525 km/h

(2) 50 km/h

(3) 57-5 km/h

(4) 55km/h

Which one of the following can be used to form
a virtual and magnified image of an object ?
(1) Both convex mirror and convex lens

(2) Both concave mirror and convex lens

(3) Concave lens only

(4) Convex lens only

Polio is caused by a
(1) Protozoa

(2) Virus

(3) Bacteria

(4) Fungi

73.

74.

75.

76.

71.
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(D T&ﬁlﬁaaﬁrm@zﬁqﬂaﬁﬂqs’m1

(2) @awﬁ%mﬁqﬁaﬁaa@q
3) TEEae w1 SfFes e i afafia &
(4) UTEEdE I Yeeprerel § afafda g |
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(1) 525 km/
(2) 50 km/h
(3) 575 km/
(4) 55km/h

fire weg @1 e iR fafie ofa =
fou Frefafias § & s swm 62
Tehdl B ?

(1) It i 3 I9d @ gl

(2) arade gdu R IO A gl
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(4) Fad Iad o

qifer &1 HRO R
(1) e
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(3) SFAE

(4) %%




78.

79.

80.

(2)

(3)

(4)

Which one among the following s not gz

(25)

pictures taken from the space and
helping her in understanding how large
the radius of the Earth i,

Explain that although the Earth is round
like a ball yet it appears circular like a
plate,

Accept the statement ag it indicates the
child’s idea and needs to be respected.

Reject the statement and te] the child
that it is like a globe and we live on the
surface of the round Earth.

desirable aim of science education at upper

Primary leve] ?

(1)

(2)

(3)

(4)

To know the facts and
science and its applications

Principles of

To gain the knowledge available through
memorising the content and process of
science

To imbibe the values of honesty, integrity
and cooperation

To nurture the natura] curiosity,
aesthetic senge and creativity in science
and technology

Which one among the following questions

would be an ‘open-ended Qquestion’ ?

(D

(2)

(3)

(4)

Explain why we always see the same side
of the moon.

Suppose the moon emits light of jtg own,
would it still haye phases ?

Meteors are not visible during the
daytime, Explain the reason.

79.
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81.

82.

83.

(26)

Which one among the following situations
gives the learners the best opportunity to
‘discover knowledge’ ?

(1) Students being instructed through ‘team
teaching’ on ‘materials of daily use’

(2) Students being first shown the
demonstration of ‘Archimedes Principle’
followed by a detailed explanation

(3) Students labelling the given materials as
‘conductors’ and ‘non-conductors’ by
placing them in a self-assembled closed

electric circuit

(4) Students undergoing an elaborate and

detailed session of ‘programmed
instruction’ on the topic ‘components of
food’

I put one ear on a steel railroad track.

A. I am able to hear the approaching train
sooner through the track than through
the air.

B. Sound travels faster through steel as
compared to air.

C. Sound travels faster through solids as
compared to gases.

Of the above three statements, identify which

ones are observations and which are

inferences.

(1) B is an observation and A and C are
inferences.

(2) C is an observation and A and B are
inferences.

(3) A and B are observations and C is an
inference.

(4) A is an observation and B and C are
inferences.

Describing the relationship between the

distance travelled by a ball that is rolled on
the inclined plane and the angle of the plane
by constructing a graph is an example of

(1) Hypothesizing

(2) Predicting

(3) Interpreting

(4)

Communicating

81.

82.

83.
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86.

(27)

The common characteristic properties of
plastics are

(1) durable, good conductor of electricity,

non-reactive

(2) good conductor of heat, light in weight,

good conductor of electricity
(3)
(4)

durable, light in weight, non-reactive

durable, good
non-reactive

conductor of heat,

Consider the following statements about
biodiversity :

A, Tt refers to the total number of
individuals of a particular species living
in an area.

B. It refers to only the flora and fauna of a
particular species in a given area.

C. It refers to the various (variety of) species
of flora and fauna present in an area.

D. It is an artificially protected area for
animals.

The true statement(s) about biodiversity is/are
(1) A,BandC

(2) A,CandD

(3) Aand B only

(4) C only

Consider the following terms related to cells :

A. Chromosome

B. Gene
C. Nucleolus
D. Ribosome

Out of these, the parts of nucleus of a cell are
(1) Cand D only

(2) A,BandC

(3) A and Conly

B and C only

(4)

84.

85.
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(1) A,B3RC

(2) A, C3WD

(3) AT A3MB

(4) HFAC

Hifypredt & wfm fefafes @ w fEn

i

(2)

(3)
(4)

A SEEW (o)
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c. fFasiera (FfEw)
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T 9 foreft Sifienr & g & v #
(1) %aa ¢ 3D

(2) A,B3RC
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E (28)
87. In human beings, the correct sequence of the |87, HWFaE] # = I qafyy & T *1 T& %A

events during reproduction is
(1) g, ok 41, e, qo

(1) zygote, gamete formation, fertilisation,

embryo | (2) YHES F°A11, JHAS, fer, eyl
(2) gamete formation, zygote, fertilisation, (3) FHS® 5, foe=r, T, S
embryo (4) I s, PO, g, YO
(3) gamete formation, fertilisation, embryo,
zygote 88. T AT F A H N G R E IS
(4) gamete formation, fertilisation, zygote, i fafaflgs 4 4 fom o & @@ @
embryg SyeTey BT IfRT 2
88. Which one of the following elements must be (1) AT
available in sufficient quantity in the water of
a pond in at tadpoles are growing ? (2) :“5&'3';'
(1) Oxygen (3) FARH
(2) Nitrogen (4) RN
(3) Chlorine

89. W1 6 kg oWH w1 fuvg foreft wonfza &f
93 T 3 m/s I THEUH I § fEa @ 2
89. An object of mass 6 kg is sliding on a = five @t 3 o= @ T o W@ % o

frictionless horizontal surface with a uniform

(4) Iodine

speed of 3 m/s. The force required to keep the nfa A F U sravEs 59 '%
object moving at the same speed along the

same straight line is (1) 279

(1) 27 newtons (2) 547

(2) 54 newtons @) I A

(3) zero newton A (4) 18

(4) 18 newtons
90. e Ik 9T ST 2

90. Tartaric acid is found in A :ﬁi il
A. Lemons B o 3
i M C. &= miH
‘; C. TUnripe mangoes s ; [ 3
i Ut uet €
s (1) A 3MB
(1) Aand B
2) C3IMD
(2) CandD
(3) AandC (3) A3IMC
(4) BandC (4) B3RC




(29) E

Candidates have to do questions 31 to 90
EITHER from Part II (Mathematics and
Science) OR from Part III (Social
Studies/Social Science).

ghierfefar &t wya 31 @ 90 T A GET I (TOTT &
famr) ar 9rr [ (SmTfas Jegad | arETfas)
faar) @ &3 & |

PART III / 9T 111
SOCIAL STUDIES / SOCIAL SCIENCE (®maTferes stegas / @t famm)

Directions : Answer the following questions by
selecting the most appropriate option.

31. Which one of the following is not a component
of maps ?
(1) Size
(2) Symbols
(8) Distance
(4) Direction

32. What is the angle of inclination of the Earth’s
axis with its orbit plane ?
1 o

1) 23—
(1) 2

(2) 45°

10
(3) 665

(4) 90°

33. The ‘Janpad Panchayat’ has
(1) many Zila Parishads under it.
(2) many Municipal wards under it.
(3) many Gram Sabhas under it.
(4) many Gram Panchayats under it.

34. Consider the following two statements, A and
B, on ‘Social advertisements’ and choose the
correct answer :

A. Social advertisements are those
advertisements that have larger message
for the society.

B. Social advertisements are made only by
the State.

(1) Both A and B are false

(2) Both A and B are true

(3) A istrue and B is false

(4) Aisfalse and B is true

Adwr : [Aefitea 34 & 3 &7 & fore =@ Ifera
fa@ey g7 |

31. fr=fefigs d @ aafaE &1 9 & e 77
27
(1) 3HR
(2) wdtH

3 gl
4) fem

32. ¥ HEW HAA W YS & JH F FHA
(3Hfq) wior 7= 2 2

1
) 2

(2) 45°

1L
(3) 66 5

(4) 90°

33. SFYE Y & FA=<rid
1) =3 foren vfsg 20 F |
(2) s TRAAH IS B & |
(8) % U TuTd Bt |
(4) % U 9=9Id B B |

34. ‘gfes fasmeEl w f=fefaa @ i, A sk
B, W fomm #iftw i #ft s #1 ===
Hifsm -

A THSE fasmee 3 fagmm & < oo &
o forega = o E¢9 1 TER0 FKd # |

B. gmie fase $ea @R (Ts) g’
wegd e I 2 |

(1) A 3R B 2H Ted &

(2) A3MRBIE wd &

(3) ATEI? X BTeE R

(4) ATed? 3B R




35.

37.

T —

38.

(30)

Which one of the following states of India is
popular for the ‘Kalamkari print’ ?

(D
(2)
(3)
(4)

Tamil Nadu
Karnataka
Andhra Pradesh
Punjab

Which one of the following tribal groups is
mainly confined to Uttarakhand ?

(1)
(2)
(3)
(4)

Gonds
Mala Irular
Bhil

Bhotia

Who among the following rulers were best

known for controlling the ‘Silk Route’ around

2000 years ago ?

(1)
(2)
(3)
(4)

Kushanas
Pandayas
Cheras
Cholas

Under ‘Subsidiary Alliance’, the East India
Company forced the Indian rulers of the states

to
(1)

(2)

(3)

4)

have their independent armed forces, not
get protection by the Company, but still
pay towards its maintenance.

not have their independent armed forces,
get protection by the Company, without
any payment towards its maintenance.

have their independent armed forces, as
well as get protection by the Company
and pay towards its maintenance.

not have their independent armed forces,
but only get protection by the Company
and pay towards its maintenance.

35.

36.

37.

38.

a1 fefafea § 3 #9a o= o
B % foru Al 2 0

1) affe g

(2) HAleH

(3) 30y wew

(4) U

freafifen somdts wggt & & #ma
IaUEE § gwiza @ 7

(1) Tg

(2) HIAT FEeR

(3) i

(4) wifea

ST 2000 9§ & Feferfes § & w98
wm At w e wey % R gatfs
g 9
(1)
(2)

m
ey
(3 =
(4 =

TEEE W % i, $wosfoem st
TSI & WA TRl &1 arey
() 3 o a3 Afs wfe W,
ST & YoM A8 rft, v R oft
TE-@E 1 @l 3% a8 FE1 B |
2 9 Al A @ wfe T8 @,
frft wwwmm ¥ =5 % 3 s

L& U i |
3 9 It wa3 e whEy @
HIU-HTY I HE gR gean & ot
Wh WIEE H @S 3E s
BT |
! S A9 Ty A wife @
T AT A GRT T T #
3N 9% T@-W@E F @9 I TE
B |

4)




39.

40.

41,

42,

(31)

Which one of the following is not a fact about
Ahom ?

(1) The Ahom state was divided into clans
called Paiks.

(2) The Ahom society was very sophisticated.

(3) The state of Ahom was created by
suppressing the older political system of
the Bhuiyans.

(4) The Ahom state depended upon forced
labour.

The term, Hagiography refers to

(1) writing of a saint’s biography

(2) writing of a saint’s autobiography
(3) writing of a ruler’s biography

(4) writing of a ruler’s autobiography

Which one of the following is a type of tropical
grasslands 7

(1) Savanna

(2) Steppe

(3) Down

(4) Pampas

Consider the following two statements, A and
B, about food security and choose the correct
answer :

A. The wultimate aim of agricultural
development is to increase food security.

B. Food security refers to the existence of
availability of food to all people in the
times of natural calamities, when there
occurs a shortage of food.

(1)
(2)
(3)
(4)

Both A and B are true
Both A and B are false
A is true and B is false

A is false and B is true

39.

40.

41.

42.

E
78m % favg § Fafafeg § @ 901 & 9
7T 2 7
(1) Em T Foi § fawfsm a1, 52 e
HET ST °v |
TR HHTS §§d & qieha o |
ugal W i GO ToHifae SEEE &6
0 Hh AW TsF I T i TE |
EW =T SR T o |

(2)
(3)

(4)

B s=fy 2

(1) T4 % e oeT |
(2) TE F AHHY AGA
(3) TES & e @ o
(4) EH & AHHA @A d

fefafes & @ sRa w Iwmledd
TS B ?

(1) oM
(2) =i
(3) A
(4) TEIH

@ g & fovg # frefafaa < s, A ok

B, W fmm #fiftm ok & sm -1 =

$ifsre .

A FE F fowm w1 =@ 957 @@ e
S R |

B. W & ¥ Ay ® wepfasw smmagrst
¥ o v @ gt i e gt @ 9w
gt T R @ wmt SueTey AT |

A 3B AT Tt #

A 3R B qHT T &
ATE & 3 BTeE R
ATET 3K BHE ©

(1)
(2)
(3)
(4)
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43. Which one of the following is not considered

44,

45.

46,

47.

(32)

as a fossil fuel ?
(1) Petroleum
(2) Natural gas
(3) Firewood
(4) Coal

Which one of the following may cause
tremendous destruction only on the coastal
areas ?

(1) Tsunami
(2) Volcano

(3) Tides

(4) Earthquake

The innermost layer of the Earth is mainly
made up of

(1) Silica and Iron

(2) Nickel and Alumina

(3) Silica and Alumina

(4) Nickel and Iron

Which one of the following features is a result
of depositional work of a river ?

(1) Meanders

(2) Ox-bow lake

(3) Waterfall

(4) Flood plain

During an earthquake at what measurement
on the Richter scale do things begin to fal] ?
(1) 6:0 or higher

(2) Over7-0

(3) 20

(4) Over 50

—

43.

44,

45.

46.

ﬁn%ﬁaaﬁaﬁm@ﬂsﬁmiw
HHET 74T 2 2

(1) Ygifery

(2) urpfoe Ag

(8) TS THET
(4) HIEAT

ﬁw%f@aﬁﬁﬁq—wm%ﬁaméi
amrﬁﬁﬁmaﬁm%?

(1) g
(2) SETITgE:

(3) SER-yrey
(4) Y

‘Mﬁmmﬂﬁmmzaﬁ%

(1) oo g e g
2 fre v Ygfir @
®) s @ g @
4 F=d @ ar g

ﬁw%%aﬁﬁﬁq-mmw@%ﬁ%ﬁw
w1 1 gftomy § o

(1) fagd
(2) =19 zfe
(3) Iy

4) =TeFHa Azm

ﬁ?&ﬁwéaamﬁw@mﬁﬁa?ﬁamw
TEqe i et 8 0

(1) 60 I 397 arfers
(2 709 s

3) 20

(4) 50¥ 3fers




